
=LPDB����

*UXSD�5R]NãDG������,�,����,2�:��7\J������

�������������7\J��������
��

6\VWHP\�ZEXGRZDQH
�Z�� GU�0LHG]LĔVNL�5DIDá�
$%��������,�,����:

�������������7\J��������
���������

3URMHNW�LQĪ\QLHUVNL�PJU
6LZLDN�7RPDV]�$%�����
.20387(52:$����,�,�
���,2�/

3
Q

:
W

������
�������7\J
�����

3RGVWDZ\
ZHU\ILNDFML
PRGHORZHM�
GU�KDE�
=EU]H]Q\
$QGU]HM�$
%�����
.20387(
52:$���
�,�,����,2�/

������
�������7\J
���

0RGHORZD
QLH
NRPSXWHUR
ZH� GU�KDE�
=EU]H]Q\
$QGU]HM�$
%������ ��
�,�,����:

������
������
7\G]��

3RGVWDZ\
ZHU\ILNDFML
PRGHORZHM�
GU�KDE�
=EU]H]Q\
$QGU]HM�$
%������ ��
�,�,����,2
:

ĤU
RG

D

������
�������7\J
���������
��

3RGVWDZ\
ZHU\ILNDFML
PRGHORZHM�
GU�KDE�
=EU]H]Q\
$QGU]HM�$
%������ ��
�,�,����,2
:

�������������7\J����

0RGHORZDQLH
NRPSXWHURZH�GU�KDE�
=EU]H]Q\�$QGU]HM�$%�
����� ���,�,����:

�������������7\J������
�����

3RGVWDZ\�ZHU\ILNDFML
PRGHORZHM�GU�KDE�
=EU]H]Q\�$QGU]HM�$%�
����� ���,�,����,2�:

�������������7\J������
�����

3RGVWDZ\�ZHU\ILNDFML
PRGHORZHM�GU�KDE�
=EU]H]Q\�$QGU]HM�$%�
�����.20387(52:$�
���,�,����,2�/

������
�������7\J
���������
��

3RGVWDZ\
ZHU\ILNDFML
PRGHORZHM�
GU�KDE�
=EU]H]Q\
$QGU]HM�$
%�����
.20387(
52:$���
�,�,����,2�/

������
�������7\J
���������
��

:]RUFH
SURMHNWRZH
� GU�7NDF]
.DPLO�$%�
����
.20387(
52:$���
�,�,����,2�&

�������������7\J������
�����

:]RUFH�SURMHNWRZH�GU
7NDF]�.DPLO�$%�����
.20387(52:$����,�,�
���,2�/

������
�������7\J
���������
��

7HVWRZDQL
H
RSURJUDPR
ZDQLD� GU
7NDF]
.DPLO�$%�
����
.20387(
52:$���
�,�,����,2�/

F]
Z

DU
WH

N
3

W
6

R
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


